

۱

۱

۲ ۳ ۴

$$b = \frac{a+c}{r} = \frac{1^r + 1 + f}{r} = \frac{1+r}{r} = 1 + \frac{1}{r}$$

$\underbrace{1, 1, \dots, f}_{\text{در ۱۹ تایی}}$

۱, ۲, ۳

۲

۴ ۵ ۶ ... ۱۲

۱۳, ۱۴, ... ۲۹, ۱۳۰ ۲ ۳۴۳ - ۱۲۱ + ۱۲ ۲۴۳

۳, ۴, ... ۱۲

$$121, 122, \dots, 243 \quad \sum_{i=1}^n = \frac{S}{r} = \frac{243r + 121}{r} \times 243 = 243$$

۵

$n = 3K, n = 0, 3, 9 \rightarrow 1^0, 1^3, 1^9 \rightarrow 1, 2, 3, 4$

۳

$-2K + f, n = 3K + 1 \rightarrow n = 1, 4, 7 \rightarrow (-2)(1) + f, (-2)(4) + f, (-2)(7) + f \rightarrow f, 2, 5$

$$\left[\frac{n}{k+r} \right] + a, n = 3K + 1 \rightarrow n = 1, 4, 7 \rightarrow \left[\frac{1}{1+r} \right] + a, \left[\frac{4}{1+r} \right] + a, \left[\frac{7}{1+r} \right] + a \rightarrow 1+a, 4+a, 7+a$$

$$\sum_{i=1}^n = 1 + 2 + 3 + \dots + f + 2 + 3 + \dots + 1 + a + 1 + a + 2 + a = 19 \quad 2d + 30 = 19 \rightarrow a = -2$$

$$a_r + a_d + \dots + a_{19} \xrightarrow{n=3K+1} \left[\frac{r}{1+r} \right] + a, \left[\frac{d}{1+r} \right] + a, \dots, \left[\frac{19}{1+r} \right] + a \rightarrow$$

مجموع $a + r$ ده بار

$$1 - r + 1 - r + \dots + (r - r) = -r$$

۴

$$ax^2 + bx + c \rightarrow a = \frac{1}{\sqrt{0}}(-1f) = -\frac{1}{a}, a = 1f, a_v = 1v/r \rightarrow -\frac{1}{a}(a^2) + 2b + c = 1f$$

$$-\frac{1}{a}(v^r) + vb + c = 1v/r$$

$$-a + a(f) + c = 1f \rightarrow \boxed{c = 1}$$

$$\frac{rf}{a} - rb = -1v/r$$

$$\boxed{b = 2f}$$

$$a_n = \frac{-1}{a}n^2 + fn - 1 \quad \frac{a_n}{a_1} = \frac{-\frac{1}{a}(1a^2) + f(1a) - 1}{-\frac{1}{a}(1^2) + f(1) - 1} = \frac{\frac{1f}{1}}{\frac{1f}{a}} = \boxed{a}$$

$$q = a + rd = \hat{a}_r, \quad q_x = a + rd = \hat{a}_r, \quad \hat{a}_1, \dots, \hat{a} + qd \rightarrow \hat{a} + qd \quad \cdot a$$

$$q_x - q = fd = \hat{a}_r - \hat{a}_r = ad \rightarrow d = \frac{ad}{f}$$

$$\frac{\hat{a}_1}{d}, \frac{\hat{a}_1 + fd}{d}, \frac{-qd + fd}{d} = \textcircled{f}$$

in b d = a d / f

$$q(a+rd) = a(a+rd) + r(a+rd)a \rightarrow 4a^2 + 4rd + 1rad + 2ad + ra^2 + rad + 4$$

$$a = ra^2 - 4d^2 + ad \quad (ra - rd)(a + rd) = 0 \quad a = \frac{rd}{r} \quad \frac{q}{d} = \frac{a+rd}{d}$$

$$a = -rd \quad \frac{rd+rd}{d} = \textcircled{\frac{q}{r}} \quad \frac{-rd+rd}{d} = \textcircled{1}$$

$$a, b, c \xrightarrow{\text{V. line}} b, \frac{a}{r}, \frac{c}{f} \quad a+rd, \frac{a}{r}, \frac{a+rd}{f}$$

$a = ad \quad a = rd$

$$\frac{\frac{a}{r}}{\frac{a+rd}{f}} = \frac{\frac{a+rd}{f}}{\frac{a}{r}} \rightarrow \frac{a}{ra+rd} = \frac{ra+rd}{fa} \quad fa^2 = ra^2 + rd^2 + 1rad$$

d = x d / 2 lim 0

$$f(rd^2) = f(-rd) \rightarrow d(rd + ra) = 0 \quad rd + ra = 0 \rightarrow a = -\frac{rd}{r}$$

$$q = \frac{\frac{a}{r}}{\frac{a+rd}{f}} = \frac{\frac{d}{r}}{\frac{d}{r}} = 1 \rightarrow rq = r(-1) = \textcircled{-r}$$

$$a, b, c \xrightarrow{\text{V. line}} rb, ra, c \rightarrow raq, ra, cq \rightarrow aq - ra = ra - raq$$

a, aq, aq^2

$$aq^2 - fa + raq = 0 \quad a(q-1)(q+f) = 0 \quad q = 1 \quad \boxed{q = -f}$$

$$\frac{a_1}{a_2} = \frac{aq^1}{aq^2} = q^r = (-f)^r = -4f$$

11

$$\frac{a_r}{(a_r)^r} + \frac{a_r}{(a)^r} = r \quad \frac{a \hat{q}}{q^r q^r} + \frac{a q^r}{a^r} = \frac{a^r + a q}{a} = r \quad -9$$

$$r a^r - q^r - a q = 0 \quad (r a + q)(a - q) = 0 \rightarrow q = -r a$$

$$\frac{a^r}{q} \rightarrow \frac{a^r}{a q} = \frac{a^r}{a} = 1 \quad \text{--- 10}$$

$$\frac{a^r}{a q} = \frac{a^r}{-r a^r} = \left(\frac{-1}{r} \right)$$

$$q = \sqrt{a^r} \quad (a q^r)^r = a q^r \rightarrow a^r q^r = a q^r \quad a q = 1 \quad -11$$

$$a = a q^r = r v = a q^r \times q^r = r^r \rightarrow q = r \rightarrow a(r^r) = r v \rightarrow a = \frac{1}{r}$$

$$\frac{1}{r} = \frac{1}{r} = \left(\frac{1}{r} \right)$$